

DCS Engineering, LLC 1101 S. Capital of Texas Highway Building G-100 Austin, Texas 78746 Tel: (512) 614-6171

T.B.P.E. Firm No F- 13162 www.DCS-Engineering.com

March 14, 2022

Ms. Amy Madison Pflugerville Community Development Corporation 3801 Helios Way, Suite 130 Pflugerville, Texas 78660

Re: PCDC – Impact Way Extension Phase III A & B

Recommendation to Award Contract

DCS Project No. 20101482

Dear Ms. Madison:

On March 11, 2022, DCS Engineering (DCS) assisted PCDC in opening bids for the above referenced project. Two bid proposals were received with total bid prices ranging from \$2,382,550.50 to \$3,162,434.50. A tabulation of the bids received is attached. The budgeted amount for construction of this project was \$2,544,000. The low bidder is Joe Bland Construction, LP. from Austin, Texas with a bid of \$2,382,550.50. This is \$161,825 below the budgeted amount. It should be noted here that there will be an additional approximate cost of \$80,000 PCDC will be required to pay to Atmos and Oncor for the installation of dry utilities within the right of way as part of the 940 ft long road extension.

DCS has reviewed the Proposal and Bid Schedule including the required documents listed in the Instructions to Bidders to be submitted with the bid package by Joe Bland Construction, LP and found it to be accurate. However, two documents required to be included with the bid submission were submitted but were not correctly filled out. These were the Conflict of Interest Questionnaire and the Bidder's Questionnaire. DCS contacted Joe Bland Construction, L.P. regarding these two items which were subsequently submitted, reviewed by DCS, and correctly filled out to meet the requirements for the project. DCS also contacted several of Joe Bland Construction, LP's references, and documented their experience as it relates to this project. The references gave very favorable recommendations for work completed for them and/or recommended them for a project of the size and complexity of this project.

Based on the information presented, we recommend that PCDC accept the bid of Joe Bland Construction, LP with a Total Bid amount of \$2,382,550.50 for the construction of the Impact Way Extension Phase III A & B Project which includes approximately 750 linear feet of 12" water lines, 500 linear feet of 7'x4' box culvert, 160 linear feet of 10'x6' box culvert, 500 linear feet of 18"-36" storm sewer, 4 retaining wall structures, 940 linear feet of new 48'-wide asphalt roadway with sidewalks, grading, site work, and appurtenances, Emergency Access Driveway on Lot 3F to Sun Light Near Way.

Ms. Amy Madison March 14, 2022 Page 2 of 2

If you have any questions, please call me at (512) 614-6171.

Sincerely,

DCS Engineering, LLC

Darren C Strozewski, P.E.

Principal

Enclosures

DARREN C STROZEWSKI

3/14/22

#### **PCDC**

#### Impact Way Extension - Phase III A & B

Bids Opened: 3/11/22 at 10:00 am

		В	ids Opene	d: 3/1	1/22 at 10:00 ar	n						
	BID TABULATION		Joe Bland Construction, LP						Patin Construction			
	Addenda Acknowledged (Y/N)			Y				Y				
	Bid Proposal Form (Y/N)				Y Y Y N				Y Y			
	Bid Bond (Y/N)											
	Bidder's Questionnaire (Y/N)											
	Conflict of Interest Questionnaire (Y/N)					N			N V			
	. ,							Y				
	Non-Collusion Certificate (Y/N)					Y			Y			
	State of Texas Tax Code, Chapter 151 Compliance Certificate					Y				Y		
	Compliance to Texas State Law Regarding Nonresident Bidder	rs (Y/N)				Y				Y		
Bid Item	Description	Quantity	Unit		Unit Price	7	Total Amount	1	Unit Price		Total Amount	
	GENERAL BID ITEMS:	Ç,										
1	Mobilization (maximum 5% of total Bid)	1	LS	\$	100,000.00	\$	100,000.00	\$	150,000.00	\$	150,000,00	
TMD A CT	,	1	Li	Þ	100,000.00	; Þ	100,000.00	Þ	130,000.00	; <b>3</b>	150,000.00	
IMPACI	WAY PHASE III-A BID ITEMS											
	EROSION CONTROL ITEMS:											
2	Clearing and Grubbing of Areas as required to complete Items within											
	Street Right-of-Way, Utility Easements, and areas as shown on the clearing	0.45	. ~						. = = = = = =			
	plan, Complete in Place:	8.45	AC	\$	750.00	\$	6,337.50	\$	1,750.00	\$	14,787.50	
3	Off-site Disposal of Cleared and Grubbed Material in the Event of Burning	1.65	AC	\$	2 700 00	\$	17 205 00	\$	1 000 00	\$	4.650.00	
4	Ban, Complete in Place: Furnish, Install, Maintain and Remove Stabilized Construction Access as	4.65	AC	)	3,700.00	)	17,205.00	Þ	1,000.00	)	4,650.00	
4	shown on the Plans, Complete in Place:	70	SY	\$	20.00	\$	1,400.00	\$	22.00	\$	1,540.00	
4B	Furnish, Install, Maintain and Remove/Dispose of Temporary Low Water	70	51	Ψ	20.00	Ψ	1,400.00	Ψ	22.00	Ψ	1,540.00	
	Crossing with appurtenances. Complete in Place.	1	LS	\$	3,200.00	\$	3,200.00	\$	15,000.00	\$	15,000.00	
5	Install Rock Filter Dam, Complete in Place:	155	LF	\$	28.00	\$	4,340.00		30.00	\$	4,650.00	
6	Pollution Prevention Implementation including Maintenance, Permitting,	155	La	Ψ	20.00	Ψ	1,5 10.00	Ψ	50.00	Ψ	1,030.00	
	Inspections, and Reporting for all Pollution Prevention Measures as shown					-						
	on the plans, Complete in Place:	1	LS	\$	6,100.00	\$	6,100.00	\$	3,000.00	\$	3,000.00	
7	Furnish and Install Filter Fabric Fence per Plans and Specifications for					į					,	
	project site including the relocation of existing fence. Install all filter fabric											
	for the site prior to any other construction, Complete in Place:	3,837	LF	\$	4.00	\$	15,348.00	\$	4.00	\$	15,348.00	
8	Furnish and Install Excelsior Blanket per Plans and Specifications,		~~~		• 00				• • •			
	Complete in Place:	5,550	SY	\$	2.00	\$	11,100.00		2.00	\$	11,100.00	
9	Furnish and Install Curb Inlet Protection, Complete in Place:	4	EA	\$	115.00	\$	460.00	\$	150.00	\$	600.00	
10	Furnish and Install Hydromulch Seeding of disturbed areas, Complete in				ļ				ļ	!		
	Place:	7.55	4.0	Φ.	2 000 00		15 100 00	Φ.	2.750.00		20.762.50	
11	Furnish, Install, Maintain, and Remove tree protection, Complete in Place:	7.55	AC	\$	2,000.00	\$	15,100.00	\$	2,750.00	\$	20,762.50	
11	Furnish, Instan, Maintain, and Remove tree protection, Complete in Place:	1	LS	\$	3,865.00	\$	3,865.00	\$	1,000.00	\$	1,000.00	
12	Furnish, Install, Maintain, and Remove concrete washout, Complete in	1	1.5	Ψ	3,803.00	įΨ	3,803.00	Ψ	1,000.00	Ψ	1,000.00	
12	Place:	1	LS	\$	650.00	\$	650.00	\$	1,000.00	\$	1,000.00	
	EARTHWORK ITEMS:	•	110	Ψ	030.00	Ψ	050.00	Ψ	1,000.00	Ψ	1,000.00	
13	Cut, Place, and Compact material taken from borrow area at locations							-	-			
13	shown on the grading plan including Stripping Topsoil, Finished Grading,				ļ	İ			ļ	ļ		
	and reinstalling 4-inches of topsoil. Fill under proposed roadway shall use											
	the Density Control method of Construction, Complete in Place				ļ	İ			į	İ		
	and a summing of complete in the complete in t	4,653	CY	\$	14.00	\$	65,142.00	\$	35.00	\$	162,855.00	
14	Furnish and Install Concrete Pilot Channel, Complete in Place:	110	SY	\$	85.00	\$	9,350.00	\$	75.00	\$	8,250.00	



**PCDC** 

Bid Item	Description	Quantity	Unit		Unit Price	Total Amount		Unit Price	1	Total Amount	
15	Furnish and Install 12" Rock Rip-Rap, Complete in Place:	122	SY	\$	80.00	\$	9,760.00	\$ 50.00	\$	6,100.00	
16	Furnish and Install 9" Rock Rip-Rap, Complete in Place:	203	SY	\$	50.00	\$	10,150.00	\$ 45.00	\$	9,135.00	
	WATER LINE ITEMS:	203	51	Ψ	30.00	Ψ	10,130.00	φ 43.00	Ψ	7,133.00	
17	Furnish and Install 12-Inch AWWA C-900 PVC Pipe (rated at 200 psi,				<u> </u>						
17	min.), including fittings, joint restraints, polyethylene wrap, thrust				j	İ		İ	İ		
	blocking, dewatering, surface restoration, disposal of excess material, and				į						
	appurtenances with standard bedding and backfill, Complete in Place:										
	appurchances with standard bedding and backini, complete in Frace.	184	LF	\$	145.00	\$	26,680.00	\$ 125.00	\$	23,000.00	
18	Furnish and Install 12-Inch Gate Valve with Box, Complete in Place:	1	EA	\$	4,100.00	\$	4,100.00	\$ 7,500.00	\$	7,500.00	
19	Furnish and Install Standard City of Pflugerville Fire Hydrant, including						,	,			
	tee, 6-Inch Gate Valve with Box, 6-Inch Lead, Thrust Blocking, and										
	Flushing Valve, all depths, Complete in Place:	1	EA	\$	7,245.00	\$	7,245.00	\$ 7,500.00	\$	7,500.00	
20	Furnish and Install Trench Safety System for water line construction,										
	Complete in Place:	184	LF	\$	2.00	\$	368.00	\$ 4.00	\$	736.00	
21	Cleaning, Flushing, and Disinfection, and pressure testing all waterlines				İ				İ		
	including installation and removal of temporary flushing valves and piping,		* 0		4.000.00		4 000 00	4 2000 00		2 000 00	
22	Complete in Place: Furnish and Install Standard City of Pflugerville 2" Blow-Off. Complete in	1	LS	\$	4,000.00	\$	4,000.00	\$ 3,000.00	\$	3,000.00	
22		1	EA	\$	3,600.00	\$	3,600.00	\$ 5,000.00	\$	5,000.00	
23	Place: Furnish and Install 24-inch steel casing pipe (7/16" wall thickness) by open	1	LA	φ	3,000.00	Ψ	3,000.00	\$ 5,000.00	φ	3,000.00	
23	cut, not including 12" carrier pipe, with appurtenances, Complete in Place:										
	ear, not including 12 currer pipe, with appartenances, complete in Flace.	18	LF	\$	270.00	\$	4,860.00	\$ 250.00	\$	4,500.00	
24	Furnish and Install 300 psi Flowable Fill encasement.	3.4	CY	\$	250.00	\$	850.00	\$ 300.00	\$	1,020.00	
	STORM SEWER ITEMS:	5.1	C1	Ψ	250.00	Ψ	030.00	Ψ 300.00	Ψ	1,020.00	
25	Furnish and Install Standard City of Pflugerville Storm Sewer Inlet, with 5'										
23	Extension. Complete in Place:	2	EA	\$	8,100.00	\$	16,200.00	\$ 7,500.00	\$	15,000.00	
26	Furnish and Install 18-Inch RCP, C-76 Class III Storm Sewer Inlet Leads	<del>_</del>		4	0,100.00	Ψ	10,200.00	Ψ 7,500.00	Ψ	15,000.00	
	with bedding and backfill, Complete in Place:	41	LF	\$	88.00	\$	3,608.00	\$ 75.00	\$	3,075.00	
27	Furnish and Install 7' x 4' RCB Storm Sewer ASTM C-789 and ASTM C-										
	850 with Bedding and Backfill, Complete in Place:	524	LF	\$	580.00	\$	303,920.00	\$ 550.00	\$	288,200.00	
28	Furnish and Install Standard Storm Sewer Manhole for proposed 7'x4'										
	RCB, all depths, Complete in Place:	1	EA	\$	2,400.00	\$	2,400.00	\$ 7,500.00	\$	7,500.00	
29	Furnish and Install Wing Wall Outlet Structure with energy disipation for										
	7' x 4' RCB, Complete in Place:	1	LS	\$	35,000.00	\$	35,000.00	\$ 15,000.00	\$	15,000.00	
30	Furnish and Install Trench Safety System for Storm Sewer Construction,	565	LF	\$	2.00	\$	1,130.00	\$ 4.00	\$	2 260 00	
	Complete in Place: PAVING ITEMS:	303	LF	Ф	2.00	3	1,130.00	\$ 4.00	Þ	2,260.00	
21		77	TON	Φ.	200.00	Φ.	20.260.00	A 225.00	ф	17.225.00	
31	Asphalt Pavement Road: Furnish Lime for 8" Subgrade Stabilization at 6%	77	TON	\$	380.00	\$	29,260.00	\$ 225.00	\$	17,325.00	
32	Asphalt Pavement Road: Prepare and Stabilize 8" Subgrade, Including all Equipment and Labor, Complete in Place:	3,577	SY	\$	2.00	\$	7,154.00	\$ 10.00	\$	35,770.00	
33	Furnish and Install 18-Inch Flexible Base Type A, Grade 1 with Geogrid,	3,377	31	φ	2.00	Ψ	7,134.00	ş 10.00	įφ	33,770.00	
33	Complete in Place:	3,577	SY	\$	25.00	\$	89,425.00	\$ 28.00	\$	100,156.00	
34	Asphalt Pavement Road: Furnish and Install Prime Coat, Complete in	3,577	21	4	20.00	<u> </u>	07,122.00	Ψ 20.00	Ψ	100,100.00	
	Place:	742	GAL	\$	6.50	\$	4,823.00	\$ 10.00	\$	7,420.00	
35	Asphalt Pavement Road: Furnish and Install 2-inch HMAC, Type B per	3,204	SY	\$	22.50	\$	72,090.00		\$	54,468.00	
36	Asphalt Pavement Road: Furnish and Install 2-Inch HMAC, Type C per										
	TXDOT Specification Item 340, Complete in Place:	3,204	SY	\$	24.00	\$	76,896.00	\$ 20.00	\$	64,080.00	
37	Furnish and Install 6-Inch Concrete Curb, including Reinforcing Steel,				ļ						
	Concrete, Labor and Appurtenances, Complete in Place:	1,231	LF	\$	15.00	\$	18,465.00	\$ 15.00	\$	18,465.00	
38	Furnish and Install Pavement Marking, Thermoplastic, Reflective, White,	1 120	1.5		1.50	Φ.	1 600 00	<b>.</b>	Φ.	7.040.00	
	4" BRK, 100 mil, Complete in Place:	1,120	LF	\$	1.50	\$	1,680.00	\$ 7.00	\$	7,840.00	



**PCDC** 

Bid Item	Description	Quantity	Unit	Unit Price		To	otal Amount	Unit Price	Т	Total Amount	
39	Furnish and Install Pavement Marking, Thermoplastic, Reflective, Yellow,	<u> </u>									
	4" SLD, 100 mil, Complete in Place:	1,120	LF	\$	1.50	\$	1,680.00	\$ 7.00	\$	7,840.00	
40	Furnish, Install, and Maintain Traffic Control Devices on Impact Way and				į						
	Sun Light Near Way with appurtenances, in accordance with Texas				ļ						
	Manual on Uniform Traffic Control Devices (Latest Edition); Complete in				į						
	Place:	1	LS	\$	3,000.00	\$	3,000.00	i i	\$	8,500.00	
41	Adjust grade of existing sanitary sewer manholes. Complete in place:	2	EA	\$	400.00	\$	800.00	\$ 500.00	\$	1,000.00	
	SIDEWALK ITEMS:				į	Ì		į	Ì		
42	Furnish and Install 6-Foot Concrete Sidewalk, Complete in Place:	735	SY	\$	55.00	\$	40,425.00	\$ 30.00	\$	22,050.00	
43	Construct wheel chair ramps (all types) per plans and specifications	4	EA	\$	1,450.00	\$	5,800.00	\$ 3,000.00	\$	12,000.00	
	EMERGENCY ACCESS DRIVEWAY:				į						
44	Furnish and Install 110' Long, 26' Wide Grasscrete Driveway with grading,	1	LS	\$	70,000.00	\$	70,000.00	\$ 60,000.00	\$	60,000.00	
45	Furnish and Install Emergency Access Gate including Knox Padlock	2	EA	\$	5,000.00	\$	10,000.00		\$	13,000.00	
	GENERAL:				į	İ	·			,	
46	Furnish and Install Traffic and Street Signs including all Signage, Material	2	EA	\$	400.00	\$	800.00	\$ 500.00	\$	1,000.00	
47	Furnish and Install Project Sign including all Material and Labor,		12.1	Ψ	400.00	Ψ	000.00	φ 500.00	Ψ	1,000.00	
.,	Complete in Place:	1	EA	\$	3,220.00	\$	3,220.00	\$ 500.00	\$	500.00	
48	Furnish and Install Standard City of Pflugerville Type III Barricade,			Ť	-,=====			7 000.00			
	Complete in Place:	2	EA	\$	2,025.00	\$	4,050.00	\$ 3,000.00	\$	6,000.00	
49	Furnish and Install 6" Diameter Pipe Bollard, Complete in Place:	11	EA	\$	1,150.00	\$	12,650.00	\$ 1,000.00	\$	11,000.00	
50	Furnish and Install Concrete street light foundation including all Material			·			,	, , , , , , , , , , , , , , , , , , , ,		,	
	and Labor, Complete in Place:	3	EA	\$	2,950.00	\$	8,850.00	\$ 2,500.00	\$	7,500.00	
51	Demolition shown on 01C-01. Proposed/Restored Items called out on this										
	Drawing (including Filling, Sidewalks, Ramps, Curbs, Sleeves, and				į	İ		ļ			
	Valves) are included in other bid item quantities, Complete in Place:	1	LS	\$	15,000.00	\$	15,000.00	\$ 10,000.00	\$	10,000.00	
52	Furnish, Install, and maintain watering and/or temporary irrigation system				į	İ		į	İ		
	until revegetation is established per City of Pflugerville specifications,	1	LS	\$	9,165.00	\$	9,165.00	\$ 2,500.00	\$	2.500.00	
D 10 1 00 1	Complete in Place:	1	Lo	)	9,105.00	)	9,163.00	\$ 2,300.00	•	2,500.00	
IMPACT V	WAY PHASE III-B BID ITEMS:			1							
	EROSION CONTROL ITEMS:				į			i			
53	Clearing and Grubbing of Areas as required to complete Items within				ļ						
	Street Right-of-Way, Utility Easements, and areas as shown on the clearing	1.50			4 22 5 00		7.255.00	4.770.00		201000	
	plan, Complete in Place:	1.68	AC	\$	4,325.00	\$	7,266.00	\$ 1,750.00	\$	2,940.00	
54	Furnish, Install, Maintain and Remove Stabilized Construction Access as shown on the Plans, Complete in Place:	70	SY	\$	20.00	\$	1,400.00	\$ 22.00	\$	1,540.00	
55	Install Rock Filter Dam, Complete in Place:		LF	\$	1	\$		t	\$	•	
56	*	105	LF	\$	28.00	3	2,940.00	\$ 30.00	3	3,150.00	
36	Pollution Prevention Implementation including Maintenance, Permitting, Inspections, and Reporting for all Pollution Prevention Measures as shown				}						
	on the plans, Complete in Place:	1	LS	\$	3,800.00	\$	3,800.00	\$ 3,000.00	\$	3,000.00	
57	Furnish and Install Filter Fabric Fence per Plans and Specifications for	-		Ψ	2,000.00	Ψ	2,000.00	\$ 2,000.00	Ψ	2,000.00	
	project site including the relocation of existing fence. Install all filter fabric				į	İ		į	İ		
	for the site prior to any other construction, Complete in Place:	2,967	LF	\$	4.00	\$	11,868.00	\$ 4.00	\$	11,868.00	
58	Furnish and Install Excelsior Blanket per Plans and Specifications,				ļ	-		ļ			
	Complete in Place:	2,317	SY	\$	3.00	\$	6,951.00	\$ 2.00	\$	4,634.00	
59	Furnish and Install Curb Inlet Protection, Complete in Place:	4	EA	\$	115.00	\$	460.00	\$ 150.00	\$	600.00	
60	Furnish and Install Hydromulch Seeding of disturbed areas, Complete in										
	Place:	1.11	AC	\$	3,100.00	\$	3,441.00	\$ 2,750.00	\$	3,052.50	
61	Furnish, Install, Maintain, and Remove tree protection, Complete in Place:										
		1	LS	\$	1,935.00	\$	1,935.00	\$ 1,000.00	\$	1,000.00	



**PCDC** 

Bid Item	Description		Unit	Unit Price		To	otal Amount	Unit Price	Т	otal Amount
62	Furnish, Install, Maintain, and Remove concrete washout, Complete in									
	Place:	1	LS	\$	650.00	\$	650.00	\$ 1,000.00	\$	1,000.00
	EARTHWORK ITEMS:				ļ	ļ				
63	Cut, Place, and Compact material taken from borrow area at locations					į				
	shown on the grading plan including Stripping Topsoil, Finished Grading,					ļ				
	and reinstalling 4-inches of topsoil. Fill under proposed roadway shall use					į				
	the Density Control method of Construction, Complete in Place		~~~							
		2,327	CY	\$	14.00	\$	32,578.00		\$	81,445.00
64	Furnish and Install 1'-6" Rock Rip-Rap, Complete in Place:	1,508	SY	\$	60.00	\$	90,480.00	\$ 65.00	\$	98,020.00
	WATER LINE ITEMS:					ļ				
65	Furnish and Install 12-Inch AWWA C-900 PVC Pipe (rated at 200 psi,									
	min.), including fittings, joint restraints, polyethylene wrap, thrust				į	į				
	blocking, dewatering, surface restoration, disposal of excess material, and				İ	į				
	appurtenances with standard bedding and backfill, Complete in Place:	490	LF	\$	160.00	\$	78,400.00	\$ 125.00	\$	61,250.00
66	Furnish and Install 12-Inch Gate Valve with Box, Complete in Place:	3	EA	\$		\$		1	\$	,
67	^	3	EA	3	4,100.00	\$	12,300.00	\$ 7,500.00	\$	22,500.00
67	Furnish and Install Standard City of Pflugerville Fire Hydrant, including tee, 6-Inch Gate Valve with Box, 6-Inch Lead, Thrust Blocking, and					ļ				
	Flushing Valve, all depths, Complete in Place:	1	EA	\$	7,245.00	\$	7,245.00	\$ 7,500.00	\$	7,500.00
68	Furnish and Install Trench Safety System for water line construction,	-		Ψ	7,2.5.66	Ψ	7,210100	Ψ 7,500.00	Ψ	7,200.00
	Complete in Place:	490	LF	\$	2.00	\$	980.00	\$ 4.00	\$	1,960.00
69	Cleaning, Flushing, and Disinfection, and pressure testing all waterlines									
	including installation and removal of temporary flushing valves and piping,					ļ				
	Complete in Place:	1	LS	\$	4,000.00	\$	4,000.00	\$ 3,000.00	\$	3,000.00
70	Furnish and Install Standard City of Pflugerville 2" Blow-Off. Complete in									
	Place:	2	EA	\$	3,600.00	\$	7,200.00	\$ 5,000.00	\$	10,000.00
71	Furnish and Install 24-inch steel casing pipe (7/16" wall thickness) by open					ļ				
	cut, not including 12" carrier pipe, with appurtenances, Complete in Place:	70	LF	\$	260.00	\$	18,200.00	\$ 250.00	\$	17,500.00
	STORM SEWER ITEMS:	70	Li	Ψ	200.00	Ψ	10,200.00	ψ 250.00	Ψ	17,500.00
72	Furnish and Install Standard City of Pflugerville Storm Sewer Inlet, with 5'					<del>-  </del>			-	
12	Extension, Complete in Place:	2	EA	\$	8,115.00	\$	16,230.00	\$ 6,500.00	\$	13,000.00
73	Furnish and Install 24-Inch RCP, C-76 Class III Storm Sewer Inlet Leads			Ψ	0,115.00	, ·	10,220.00	Φ 0,500.00	, T	15,000.00
	with bedding and backfill, Complete in Place:	133	LF	\$	98.00	\$	13,034.00	\$ 115.00	\$	15,295.00
74	Furnish and Install Standard Storm Sewer Manhole, all depths, Complete									
	in Place:	1	EA	\$	5,140.00	\$	5,140.00	\$ 6,500.00	\$	6,500.00
75	Furnish and Install Trench Safety System for Storm Sewer Construction,					i .				
	Complete in Place:	133	LF	\$	2.00	\$	266.00	\$ 4.00	\$	532.00
	PAVING ITEMS:					i				
76	Asphalt Pavement Road: Furnish Lime for 8" Subgrade Stabilization at 6%									
	by weight, Including all Material and Labor, Complete in Place:	54	TON	\$	380.00	\$	20,520.00	\$ 225.00	\$	12,150.00
77	Asphalt Pavement Road: Prepare and Stabilize 8" Subgrade, Including all	2.506	SY	\$	2.00	\$	5.012.00	¢ 10.00	\$	25.060.00
78	Equipment and Labor, Complete in Place: Furnish and Install 18-Inch Flexible Base Type A, Grade 1 with Geogrid,	2,506	31	Э	2.00	)	5,012.00	\$ 10.00	Þ	25,060.00
70	Complete in Place:	2,506	SY	\$	25.00	\$	62,650.00	\$ 28.00	\$	70,168.00
79	Asphalt Pavement Road: Furnish and Install Prime Coat, Complete in	2,500	51	Ψ	23.00	Ψ	02,030.00	Ψ 20.00	Ψ	70,100.00
"	Place:	522	GAL	\$	6.50	\$	3,393.00	\$ 10.00	\$	5,220.00
80	Asphalt Pavement Road: Furnish and Install 2-inch HMAC, Type B per			1	2.2.2	İ	- ,		1	- /== 0.00
	TXDOT Specification Item 340, Complete in Place:	2,252	SY	\$	22.50	\$	50,670.00	\$ 17.00	\$	38,284.00
81	Asphalt Pavement Road: Furnish and Install 2-Inch HMAC, Type C per					-				
	TXDOT Specification Item 340, Complete in Place:	2,252	SY	\$	24.00	\$	54,048.00	\$ 20.00	\$	45,040.00



**PCDC** 

Bid Item	Description	Quantity	Unit	Unit Price		Total Amount	Unit Price		Total Amount
82	Furnish and Install 6-Inch Concrete Curb, including Reinforcing Steel,	. ,							
	Concrete, Labor and Appurtenances, Complete in Place:	790	LF	\$ 15.00	5	11,850.00	\$ 15.00	\$	11,850.00
83	Furnish and Install Pavement Marking, Thermoplastic, Reflective, White,								
	4" BRK, 100 mil, Complete in Place:	762	LF	\$ 1.50	\$	1,143.00	\$ 7.00	\$	5,334.00
84	Furnish and Install Pavement Marking, Thermoplastic, Reflective, Yellow,								
	4" SLD, 100 mil, Complete in Place:	762	LF	\$ 1.50	\$	1,143.00	\$ 7.00	\$	5,334.00
85	Furnish, Install, and Maintain Traffic Control Devices on Impact Way and								
	Sun Light Near Way with appurtenances, in accordance with Texas								
	Manual on Uniform Traffic Control Devices (Latest Edition); Complete in							į	
	Place:	1	LS	\$ 4,000.00		4,000.00	\$ 8,500.00	\$	8,500.00
	CULVERT BRIDGE ITEMS:								
86	Furnish and Install Culvert bridge as shown on sheet 02S-03 including 3-								
	36" RCP Culverts, Concrete Retaining Wall Structures including Footing							į	
	for 3-36" RCP Culverts, all formwork, reinforcing steel, and appurtenances,							Ì	
	Complete in Place:	1	LS	\$ 115,256.00	5	115,256.00	\$ 380,000.00	\$	380,000.00
87	Furnish and Install Culvert bridge as shown on sheet 02S-02 including 2-								
	10'x6' RCB Culverts, Concrete Retaining Wall Structures including							ļ	
	Footing for 2-10'x6' RCB Culvert, all formwork, reinforcing steel, and							ļ	
	appurtenances, Complete in Place:	1	LS	\$ 315,000.00		315,000.00	\$ 720,000.00	\$	720,000.00
	SIDEWALK ITEMS:								
88	Furnish and Install 6-Foot Concrete Sidewalk, Complete in Place:	459	SY	\$ 55.00	9	25,245.00	\$ 25.00	\$	11,475.00
89	Construct wheel chair ramps (all types) per plans and specifications						·		,
	including any restoration and tie-ins to existing sidewalks or trails,								
	Complete in Place:	2	EA	\$ 1,450.00	5	2,900.00	\$ 2,500.00	\$	5,000.00
	GENERAL:							į	
90	Furnish and Install Traffic and Street Signs including all Signage, Material								
	and Labor, Complete in Place per sign pole:	1	EA	\$ 400.00	5	400.00	\$ 500.00	\$	500.00
91	Furnish and Install Project Sign including all Material and Labor,						·		
	Complete in Place:	1	EA	\$ 1,930.00	5	1,930.00	\$ 500.00	\$	500.00
92	Furnish and Install Standard City of Pflugerville Type III Barricade,							i	
	Complete in Place:	2	EA	\$ 2,025.00	\$	4,050.00	\$ 3,000.00	\$	6,000.00
93	Furnish and Install 6" Diameter Pipe Bollard, Complete in Place:	9	EA	\$ 1,150.00	5	10,350.00	\$ 1,000.00	\$	9,000.00
94	Furnish and Install Concrete street light foundation including all Material			 -,		,	-,,,,,,,,,		.,
	and Labor, Complete in Place:	1	EA	\$ 3,500.00	5	3,500.00	\$ 2,500.00	\$	2,500.00
95	Demolition shown on 01C-01. Proposed/Restored Items called out on this			- ,		-,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		,
	Drawing (including Filling, Sidewalks, Ramps, Curbs, Sleeves, and								
	Valves) are included in other bid item quantities, Complete in Place:	1	LS	\$ 15,000.00	\$	15,000.00	\$ 10,000.00	\$	10,000.00
96	Furnish, Install, and maintain watering and/or temporary irrigation system							ļ	
	until revegetation is established per City of Pflugerville specifications,								
	Complete in Place:	1	LS	\$ 9,000.00	\$	9,000.00	\$ 2,500.00	\$	2,500.00
97	Furnish and Install Metal Beam Guard Fence per Plans, including all	<del></del>							
	Materials, Labor and Appurtenances, Complete in Place:	285	LF	\$ 185.00	\$	52,725.00	\$ 150.00	\$	42,750.00
98	Furnish and Install TxDOT Combination (Pedestrian/Traffic) Rail per								
	Plans, including all Materials, Labor and Appurtenances, Complete in								
	Place:	370	LF	\$ 290.00	\$	107,300.00	\$ 250.00	\$	92,500.00
	TOTAL IMPACT WAY PHASE III A & B BID AMOUNT				9	2,382,550.50		\$	3,162,434.50
						, , , ,	1		, , , , , , , , , , , , ,

